Signal combinations



Solution 1) whole combined signal as <isTrainMovementSignal>

<signallL id="02" function="intermediateSignal"...>
<refersTo ref="01">

<typeDesignator register="TJN" entry="§8.12"
</signallL>

<signallL id="03" function="distant"...>
<refersTo ref="01">

<typeDesignator register="TJN" entry="§8.14"
</signallL>

<signallL id="04" function="shunting"...>
<refersTo ref="01">

<typeDesignator register="TJN" entry="§8.23"
</signallL>

<signallS id="01" absPos="23425">
<signalConstruction type="light"
<isTrainMovementSignal>
</signallS>

Black text = current

Red text= potential additional needed extentions in railML3.3




"intermediateSignal" is

/ defined as a "main" signal
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Black text = current

Red text= potential additional needed extentions in railML3.3




Solution 3) with defined <isTrainMovementSignal> and signallL

reference for IL properties

A

<signallS id="02" belongsToParent="01"...>
<isMovementSignal >
<typeDesignator register="TJN" entry="§8.12"
</signallS>

<signallL id="05" function="intermediateSignal"...>
<refersTo ref="02">
</signallL>
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<signallS id="03" belongsToParent="01"...>
<isMovementSignal >
<typeDesignator register="TJN" entry="§8.14"
</signallS>

A

<signallL id="06"...>
<haslndicator ref=...>
<refersTo ref="03">
</signallL>

see page 20

<signallS id="04" belongsToParent="01"...>
<isMovementSignal >
<typeDesignator register="TJN" entry="§8.23"
</signallS>

<signallS id="01" absPos="23425">
<signalConstruction type="light"
</signallS>

Black text = current

Red text= potential additional needed extentions in railML3.3
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